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General Instructions:

1. This question paper contains 35 questions.
Marks are indicated against each question.
Answers should be brief and to the point.
Answers to the questions carrying 3 marks may be from 50 to 75 words.
Answers to the questions carrying 4 marks may be about 150 words.
Answers to the questions carrying 6 marks may be about 200 words.
Attempt all parts of the questions together.
An internal choice is available in Question no. 24, 25, 26,29, 30, 32,33,34,35.

Sl A S i

1. 3itTer sl T et Fer 3eaer fr v fofr & siaeta 3na 82 (1)
(V) STefeleh 3T
(&) forsersor 3eter
(&) fAHATON 3ereT
(BY) TTeITcAS 3T



Which of the categories of Industries covers oil refinery and sugar mills?
(A) Genetic Industry

(B) Extractive Industry
(C) Manufacturing Industry
(D) Construction Industry

2. ITATaIoT GL&TOT &7 3T TAYTT ITaATaRoT &l oo qTadI W@ e: (1)

(T) STef JgNoT
SURIEE
(¥) €afer gemoT
(3) 3uAFT g

Environment protection means making the environment free from:

(A)Water Pollution
(B) Air Pollution
(C)Noise Pollution
(D)AIl of above

3. 3T HATU YeTeT ahl SITd! o (1)
(T) gRaget Hafaar
(&) s
() Heger FHafarar
(3N) ST A g ALt

DTH services are provided by
(A) Transport Companies

(B) Bank
(C) Cellular Companies
(D) None of the above

4. WTO ol HE&ITo ffUq & (1)
(0) fHamR
(&) Sisrar



(@) feee

(3Y) eIgeT

The Headquarter of WTO is situated in
(A) Singapore

(B) Geneva

(C) Delhi

(D) London

(T) ar At
(&) ar foralt
(&) ar =t
(3) areen

Business between 1s called International Business.

(A) Two Cities
(B) Two Districts
(C) Two States
(D) Two Countries

. Sl [Agig ag g g srae q 9red fRu Sra 2|
(V) STeTcm
(&) FdTel
(&) 3heTh
(31) FaTHT

Public deposits are the deposits that are raised directly from:

(A) The Public
(B) The Directors
(C) The Auditors
(D) The Owners

. AT T TR R GYedN Hr giaem ure: o @RI &1 STl &
(T) AR ST

% HEY glel ITol ST Y IS STaT T e o

(1)



(s) P STTIRT
() weie

(31) 3cqigeh
The facility of ‘Home Delivery’ of goods is generally provided by

(A) Wholesaler
(B) Retailer
(C) Agent

(D) Producer

. $-SIETT & JdId I FlFATd fhaT ST g | (1)
(T) S-PleRT

E-Business includes:

(A) E-Commerce

(B) Production

(C) Production Development
(D) All of the Above

| £ i pe— dor NS o & ATH T FAIT FTGT B (1)
(T) Eee S 3iTw sf3ar
() Hgel Soh 3ATH 3T
(@) ReTa § 3w sfar
(3) 3T A HIg AL

—————————————— Bank is known as ¢ Apex Bank of India. (1)
(A) State Bank of India
(B) Central Bank of India

(C) Reserve Bank of India
(D) None of the above



10.  '3cdIeeh — Uik STIRY — Pl SATART — 33T 2l

3CTEXUT & (1)
(T) Peehi AR

(&) 2eh SATIR

(&) H9cTET IR

(31) IcT&T AR
is the example of ‘Manufacturer—Wholesaler—Retailer—Consumer’
(A) Retail Trade
(B) Wholesale Trade
(C) Indirect Trade
(D) Direct Trade

11. STEEET &1 Ul &9 & (1)
(T) a&] fashT T
() I Td HaTH
(®Y) gohel [ashT
(3N) FTH T g el

Full form of G.S.T. is ----=--=-=——---
(A) Good Sales Tax
(B) Goods & Service Tax
(C) Gross Sales Tax
(D) None of These

12, R HT T FhR T gRIAUT TIHR 6 I8 TSl [AAS 1 geher 3721
gl & A A 26% T 25% FEACRY &1 Teh huehl H Yol o 38 g & ANree 4
TISE BIcAT & Toh TN T Yehell 72 Yoil TR FIT0T § TelIEY shell o A1 & TATT
grasi{aieh 39shH & TgTT: (1)




(@) s A S At
The Central Government of India and the Govt. of Haryana held the
paid up capital of ABC Limited to the extent of 26% and 25%
respectively. From this contribution of capital in a company it is clear
that Govt. exercises control over the paid up capital of the company.
|dentify the Public Enterprise establish in the name of ABC Company:

(A) Government Company

(B) Statutory Corporation

(C) Departmental Undertakings

(D) None of above

13. fafaer gca fra Sar A Afga g? (1)
The Investment element lies in which Insurance?
14. H3TSUE &1 IuT §9 faf@u| (1)
Write full form of C.LF.

15. 3 TRAT FTTF 3SEI0T ST (1)

Give one example of economic activity.

16. thereT aTell TE3HT T HGTHT el H fEFgarg|
(hF/ 31Teeh) (1)

Doing business of fashion goods involves risk. (Less/more)

17. Ueh YT 3Ush G&H SehTg HIEAT ST ATG 36 Ta1 H Taferner G
TUT dh g1 dUT aIf¥eh ToT311a UV 5 FIS dah g (1318 5a08) (1)

If the investment on the Equipment of a service Enterprise is upto
crore rupees and annual tureover is upto Rs. Five Crore, it will be known as
Micro unit. (One crore/Ten Crore)

18. TR T & fIw Rghdr ¥ ured, @IS 1T ATl & faior Y FEd gl
(STSTeh/ hel AAT) (1)

The detail of the purchased goods from the seller on credit is called



(Invoice/Cash Memo)

19.=r QU 1T faeredl H & Hel [Ahed &l aaa HIfaT: (1)
HTAFUA(A): HATSF ITREMAca I i HT BH & Sealics od &
gl
HROUT(R): ¥GT AT AT § 5 Iaqry g9 TwoT & giAas SHRedcd
TEUT N WHEN [Afagd & gAear & 99 Ghar ¢
() 3fARYA(A) T FRONR) el T & AR R, A 5 @Y e gl
(&) FAFAFYA(A) T FROIR) il TcT & IR R, A 5 T <Irear g
gl
(@) ITARYA(A) T § Afhed FROTI(R) 30T gl
(31) 3fAFUA(A) T FRONR) ST 3T &l

Choose one of the correct alternatives given below:
Assertion (A): It is in the long term interest of the firm to fulfills its social
responsibility.
Reason (R): It is believed that businessmen can avoid the problem of government
regulations by voluntarily assuming social responsibility.
(A) Both Assertion (A) and Reason(R) are true and Reason(R) is the correct
explanation of Assertion (A).
(B) Both Assertion (A) and Reason(R) are true and Reason(R) is not the correct
explanation of Assertion (A).
(C) Assertion (A) is true but Reason(R) is false.
(D) Assertion (A) and Reason(R) both are false.

20. A U 310 faskedl & @ @al [dhed &1 TI FIfFAT: (1)
HTAPUA(A): T FaHT A e FGHT AT Jolell A TR
T8t 9Ted 8T gl
SHRUT(R): ST§ o] SR H Hed HA g dl 3o G2l 7 AT Il o
HHATT ST Hehell & [ Heg 3170 g
(T) fAFAFT(A) T FROTR) S T g IR R, A T T =areE gl
(&) JATAFUA(A) T FROI(R) gl T g IR R, A T TEr qre&ar g
el




(&) FTFFUA(A) TT ¢ eifohed SROI(R) 31T
(31) 3fAFUA(A) T FRONR) ST 3T &

Choose the correct option from the options given below:

Assertion (A): International business can be more profitable than the domestic

business.

Reason (R): When the domestic prices are lower,business firms can earn more

profits by selling their products in countries where prices are high.

(A) Both Assertion (A) and Reason(R) are true and Reason(R) is the correct

explanation of Assertion (A).

(B) Both Assertion (A) and Reason(R) are true and Reason(R) is not the correct

explanation of Assertion (A).
(C) Assertion (A) is true but Reason(R) is false.

(D) Assertion (A) and Reason(R) both are false.

21. TG HT HAATRIAT o I IS et ARGl Acal T JoTT Y|

Mention any three responsibilities of business towards employees.

22. Thegr deT Solareiieleh & fohaT A3 T &I HIUTH AT

Explain briefly any three electronic banking Services.

23. ek STIR T FAT ITAYUTT g2 5T fohoar ar [aAwar3it 1 quie Y|

What do you mean by Wholesale Trade? Expalin any two features of it.

24, graterl & denfaes IeTull &hT Ui ShITaIT |

Discuss statutory characteristics of partnership.
3AYar
OR

TehTehT TATTHCT oh oI&TUTT 3T JUTel Y|

State the features of Sole Proprietorship.

25. TAHTINT 3UshaT T 31T AT THSTA & ? ST TAATATT T JUTT HhY |

What do you mean by Departmental Undertaking? Elaborate its features.

3Ygar
OR



TGS HY=AT T 37 TATFT IR 3HAT [IATAT3H T qoier HifST |

Define MNC's (Multinational Corporation).State its features.

26. TYTATUes] JTAGROT I &I H THST| (3)

Explain Statement in lieu of Prospectus.
3dr
OR
gfaeror & g FIfT| gidaver foeTreT & ar 3e52a 87

Define Prospectus. What are the objectives of issuing Prospectus?

27. $-gaTTT | 3T 4T THS o ? WA SJaary Ud 3-c9ad H 3 TISC
HIfST| (4)

What do you mean by E-Business? Differentiate between Traditional businesses
and E- business.

28. TITATT o HHAIH 32T T quTe Y| (4)

Describe various social objectives of a business.

29, T 3 Fretl & Rieeriell 1w 3 avier FifsTT|
(4)
Describe any two principles of Insurance.
JIar
OR
ScIelC o IR SITHT T U HITST|

Explain three benefits of Internet.

30. B 3N FARTET SR # 3R Jd3|

Give difference between Domestic Trade & Foreign Trade.

3gar
OR

faed cATIR HerasT @ AT HTAYTT §? SHF T 362N T JUT |
What do you mean by WTO? Discuss its any two objectives.



31. 31T 8T O Far AU §7 9% IS & oIy Idsv| (4)

What do you understand by Public Deposits? Expalin its any two advantages.

32. oY THIT 3UshA T 319 FAT THSA &? ATHUT R H B SIIAqTT T FT
G GEAR Y 4)

What is mean by Small Scale Enterprise? Describe the role of small business in
rural India?

3gar

OR
3CITHAT & 37T FIT FHASIA o ? SCATHAT I TAATAT3N T J0T Y |
What is meant by Enterprenureship? Expalin any two characterstics of
Entrepreneureship.

33. 31l 3R FHoT g3 Fr gREIRT FfFT 3R 397 3R® of@T) (6)

Define and distinguish between shares and debentures.
3AYar
OR

qaifereh R 3R & YehRi ol faEdR qdeh JuTel &l |

Elaborate the different types of Preference Shares.

34. 9Te HIAT THIH 31T T HASA & ? SHh! 99T TE] 1 [aawem faedr

qdeh ST (6)
What is Memorandum of Association? Elaborate its subject matter in detail.
3AYar
OR

qr¥e @A ST vg g 3R FIH # 18 ©: 37k 9d18U|
Differentiate the Memorandum of association and Article of Association with
SIX points.
35. Sl U T GIaaTieleh Uil H HIs &: 3 §d1S8T| (6)
Give any six differences between Private Company and Public Company.
Jadr
OR



TIFd ot 9el & Hedt # ferfaf@d & @ el et dr et &
SATEAT &
(T) JfafRoea safaR
() @fAaT g
(¥) PHIA AT
(1) gush ¥
Briefly explain any three of the following terms in context of a Joint Stock
Company:
(A) Perpetual Succession
(B) Limited liability
(C) Artificial person
(D) Separate entity
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